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DCF Choices: Equity versus Firm

irm Valuatign: Value the entire business
discounting sash flow to the firm at cost
apital

Existing Investments Fixed Claim on cash flows
Generate cashflows today Little or No role in management
Includes long lived (fixed) and Fixed Maturity
short-lived(working | Tax Deductible
capital) assets

Expected Value that will be Residual Claim on cash flows
created by future investments | Significant Role in management
Perpetual Lives

Equity valuation: Value just the
equity claim in the business by
discounting cash flows to equity at
the cost of equity
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The Value of a business rests on...
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Cashflows canbe
a. Afterdebt payments to equity Growthrate canbe
- Dividends a. In Equity Eamings
- Free Cashflow to Equi - Net Income Fim is in stable growth
b. Before debt payments to fim - Eamings per share which it can sustain
- Free Cashflolw to Fim b. InOperating Eamings forever
Expected Cashflows during extraordinary growth phase Teminal }alue
e
Discount the mshhows and terminal value to the present
4 Present value is
a. Value of equity, if cashflows to
equ@g discounted at cost of Discount Rate canbe
equ ) a. Cost of equity, if cashflows are equity cashflows
b. Value of operating assets of b. Cost of capital, if cashflows are to the fim
the fim, if cshflows to fim
discounted at the cost of cap tal
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The nine circles of valuation hell.. With a special bonus
circle...

Base Year & Accounting Fixation

Death and taxes

ath Damodaran



Illustration 1: Base Year fixation....

B You are valuing Exxon Mobil, using data from the most recent fiscal year
(2008). The following provides the key numbers:

Revenues $477 billion
EBIT (1-t) $ 58 billion
Net Cap Ex $ 3 billion
Chg WC $ 1 billion
FCFF $ 54 billion

B The cost of capital for the firm is 8% and you use a very conservative stable
growth rate of 2% to value the firm. The market cap for the firm is $330 billion
and it has $ 10 billion in debt outstanding.

a. How under or over valued is the equity in the firm?

b. Would you buy the stock based on this valuation? Why or why not?
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And one possible response...

Step 1: Look at history

$70,000 $100.00 . .
Step 3: Run simulation
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Step 2: Look for relationship

Regression of Exxon income against oil price
Op Inc =-6,934 + 911 (Price per barrel of oil)
R squared = 94%

Aswath Damodaran



Illustration 2: Taxes and Value

B Assume that you have been asked to value a company and have been provided
with the most recent year’ s financial statements:

EBITDA 140
- DA 40
EBIT 100

Interest exp 20
Taxable income 80
Taxes 32
Net Income 48

Free Cash flow to firm
EBIT (1- tax rate)

-(Cap Ex — Depreciation)
- Change in non-cash WC
=FCFF

Assume also that cash flows will be constant and that there 1s no growth in
perpetuity. What is the free cash flow to the firm?

a)
b)
c)
d)
e)
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88 million (Net income + Depreciation)

108 million (EBIT — taxes + Depreciation)
100 million (EBIT (1-tax rate)+ Depreciation)

60 million (EBIT (1- tax rate))
48 million (Net Income)
68 million (EBIT — Taxes)



Illustration 3: High Growth for how long...

Assume that you are valuing a young, high growth firm with great potential, just
after its initial public offering. How long would you set your high growth
period?

< 5 years

5 years

10 years

(R W W

>10 years
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Reasons to be cautious..

GrowHades quickly And does not scale up easily

Typically, the revenue growth rate of a newly public
company outpaces its industry average for only about

flve yearS Growth and Market Cap
15%: 4
Margin b
%vhicl); P I o VO R Post-1.P.O. growth
revenue Median of new issues
growth rateé  9...eocvvvien \enearsnnnns from 1965 to 2005
exceeds
industry 6=+ A A e N o A 8 e e AR o o o PE AR R A Ko
average
G eeen e chrnasss tonans fasnatason RPN NREN SR KRRTHS SRP RS RSO BS ERR AT SN LY
-®
1 2 3 4 5 6
Number o' years a"er Com|ng !o ma(ke1 I Revenues M Operating Income Net Income WEPS
Source: Andrew Metrick The New York Times
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[llustration 4: The Cost of Capital

Cost of equity

Cost of capital

B The cost of capital for Chippewa Technologies, a US firm with 20% of its revenues from
Brazil, has been computed using the following inputs:

= Riskfree Rate + Beta (ERP) + Small firm p remium
=5% +1.20 (5%) + 3% =14%
Replaced current "Adjusted” oth irom Ibboison dala base, derived

T.Bond rate of 3%
with normalized

Beta from from 1926-2009 data
Bloomberg ERP: Stocks - T.Bonds (Arithmetic

rate of 5% average)
Small firm: Small stocks - Overall market

= Cost of eqwty (Equity/ (Debt + Equity)) + Cost of debt (1-taxrate) (Debt/ (Debt + Equity)

=14% (1000/2000) + 3% (1-.30) (1000/2000) = 8.05%
rom Used market value of Company is not Used To be conservative,
above equity rated and has no effective tax counted all liabilities,
bonds. Used rate of 30% other than equity, as

book interest debt and used book

rate = Int exp/ BV
of debt

value.
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4.1: Don’ t let your macro views color your valuation

B If you believe that interest rates will go up (down), that exchange rates will
move adversely (in your favor) and that the economy will weaken
(strengthen), should you try to bring them into your individual company
valuations?

O Yes

No

B If you do, and you conclude that a stock is overvalued (undervalued), how
should I read this conclusion?

L
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4.2: Betas do not come from regressions..
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<HELP> for explanation, <MENU> for similar functions. EqQuityBETA

TTMT IN Equity REEIRGLIEY@SENSEX Index Historical Beta

Data [ERENEE CENT S 04/13/08 [04/04/10 JEa BMveekly M
=linear TBeta +/-  ~Non-Parametric
- Y = TATA MOTORS LTD
o X = BSE SENSEX 30 INDEX
; Item Value
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= Adj BETA 1.270
ALPHA(Intercept) 0.357
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Bottom Up Beta Estimates for Tata Companies

Tata
Tata Chemicals | Steel | Tata Motors TCS
Business Chemicals & Software &
breakdown Fertilizers Steel | Automobiles [Information Processing
Unlevered beta 0.94 1.23 0.98 1.05
D/E Ratio 43.85% 42.03%| 33.87% 0.03%
Levered Beta 1.21 1.57 1.20 1.05

A closer look at Tata Chemicals

% of revenues Unlevered Beta
Chemicals 42% 1.05
Fertilizers 58% 0.86
Company 0.94
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4.3. And equity risk premiums matter...

Arithmetic Average Geometric Average . .
Stocks - T. Bills | Stocks - T. Bonds | Stocks - T. Bills | Stocks - T. Bonds Historical
1928-2011 7.55% 5.79% 5.62% 4.10% N premium
2.22% 2.36%
1962-2011 5.38% 3.36% 4.02% 2.35%
2.39% 2.68%
2002-2011 3.12% -1.92% 1.08% -3.61%
6.46% 8.94%

In the trailing 12 months, the
cash returned to stockholders  Analysts expect earnings to grow 9.6% in 2012, 11.9% in 2013,

was 74.17. Using the average — 8.2% in2014,4.5% in 2015 and 2% therafter, resulting in a
cash yield of 4.71% for compounded annual growth rate of 7.18% over the next 5 years. We
2002-2011 the cash returned  Will assume that dividends & buybacks will grow 7.18% a year for

would have been 59.29. the next 5 years.

After year 5, we will assume that
earnings on the index will grow at
1.87%, the same rate as the entire
economy (= riskfree rate).

63.54 68.11 73.00 78.24 83.86 Data Sources:

| | | |

| Dividends and Buybacks

63.54 68.11 73.00 7824 83.86+ 83.86(1.0187)

January 1, 2012 1257.60 (1+7) ¥ (1+r)? ¥ (1+7r) ¥ (1+r)* ¥ (A+r)  (r=0187)1+r)
S&P 500 is at 1257.60

Adjusted Dividends & Expected Return on Stocks (1/1/12) =7.91%
Buybacks for 2011 = 59.29 T.Bond rate on 1/1/12 =1.87%

Equity Risk Premium =7.91% - 1.87% =6.04%
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' last year. S&P
Expected growth rate:
News stories, Yahoo!
Finance, Bloomberg
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And sometimes over short time periods: 9/12/2008 —

12/31/2008
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1200 T

1100 T

1000 T

Implied Equity Risk Premium - 9/12- 12/31/08
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4 .4: Small Cap and other premiums: The perils of the Build-
up Approach

B While it has become conventional practice to estimate and use small cap,
liquidity and other premiums, when computing cost of equity, it is a dangerous
practice because:

1. These premiums are derived from historical data and come with very large
standard errors. For instance, the standard error on the small cap premium
estimated over the last 80 years is close to 2%...

2. If small firms are riskier than large firms, we should consider the source of that
risk — niche products, high operating leverage... - and build it in, rather than
accept a fixed premium for all small firms.

3. Small firms become larger as they grow over time.. Small cap premiums
should be year-specific.

4. The danger of double counting risk grows as we add more premiums — small
cap, private business and illiquidity are overlapping issues, not independent
ones.
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4.5: With globalization of revenues... globalization of risk

Proposition 1: There is more risk in operating in some countries than in others and
the risk premium should reflect this additional risk. One approach to
estimating this additional risk premium is to do the following:

e Start with the default spread for the country in question

e Scale up the default spread to reflect the additional risk of equity
Country Risk Premium = Default Spread * (Ogyity/Ocovernment Bond)
Country Risk Premiumyg,, ., = 2.00% (33%/22%) = 3.00%

Proposition 2: Risk comes from your operations and not your country of
incorporation. Developed market companies can be heavily exposed to
emerging market risk, just as emerging market companies can find ways to
reduce their exposure to emerging market risk. One simple proxy is to look at
the revenues generated in a country, relative to the average company in that

market.
. Proportion of Chippewa’ s revenues from Brazil = 20%
. Average Brazilian company’ s revenues from Brazil = 77%

Lambdacy,pews = 20%/ 77% = .26

Aswath Damodaran 17
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The Correct Cost of Capital for Chippewa

Input

What was used...

What should have been used....

Riskfree rate

Normalized riskfree rate = 5%

Actual riskfree rate = 3%

Beta

Bloomberg adjusted beta = 1.20

Sector average adjusted beta = 1.60

Equity Risk Premium

Ibbotson Historical premium = 5%

Current implied equity risk premium = 4.5%

Other adjustments to cost of

Small firm premium = 3%

No small firm premium

equity Country risk premium
= Lambda * Brazil Country Risk Premium
=0.26*3% = 0.78%

Cost of equity 5% + 1.20 (5%) + 3% = 14% 3% + 1.60 (4.5%) +0.78% = 10.98%

Cost of debt (pre-tax)

Book interest rate = 3%

Cost of debt based on synthetic rating
=3% +3.5% =6.5%

Tax rate Effective tax rate = 30% Marginal tax rate = 40%
Debt ratio Book ratio: Market debt ratio
Liabilities = 50% and Equity = 50% Equity = 70% and Debt =30%
Cost of capital 14% (.5) + 3% (1-.3) (.5) =8.05% 10.98% (.7) + 6.5% (1-.4) (.3) =8.72%

Aswath Damodaran
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[llustration 5: The price of growth...

B You are looking at the projected cash flows provided by the management of
the firm, for use in valuation

Year Current 1 2 3 4
Growth rate 10% 10% 10% 10%
Revenues $100.00 $110.00 $121.00 $133.10 $146.41
EBIT (1-t) $30.00 [ $33.00 | $36.30 [ $39.93 [ $43.92
+ Depreciation $15.00 $16.50 $18.15 $19.97 $21.96
- Cap Ex $18.00 $19.80 $21.78 $23.96 $26.35
- Chg in WC $3.00 $3.30 $3.63 $3.99 $4.39
FCFF $24.00 $26.40 $29.04 $31.94 $35.14

a. How do you check to see if top-line growth is feasible?

b. How do you ensure that the forecasts are internally consistent? (In other
words, are all of the other forecasted numbers consistent with the growth
forecast in revenues?)

Aswath Damodaran
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Ilustration 6: The “fixed debt ratio” assumption

B You have been asked to value Hormel Foods, a firm which currently has the
following cost of capital:

Cost of capital = 7.31% (.9) + 2.36% (.1) = 6.8%

a. You believe that the target debt ratio for this firm should be 30%. What will
the cost of capital be at the target debt ratio?

b.  Which debt ratio (and cost of capital) should you use in valuing this
company?
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Hormel Foods in 2009

Cost of Capital and Debt Ratios

Debt Ratio Beta Cost of Equity Bond Rating [Interest rate on debt| Tax Rate Cost of Debt (after-tax)| WACC Firm Value (G)
0% 0.78 7.00% AAA 3.60% 40.00% 2.16% 7.00% $4,523
10% 0.83 7.31% AAA 3.60% 40.00% 2.16% 6.80% $4.,665
20% 0.89 7.70% AAA 3.60% 40.00% 2.16% 6.59% $4.815
30% 0.97 8.20% A+ 4.60% 40.00% 2.76% 6.57% $4.834
40% 1.09 8.86% A- 5.35% 40.00% 321% 6.60% $4.,808
50% 1.24 9.79% B+ 8.35% 40.00% 5.01% 7.40% $4.271
60% 1.47 11.19% B- 10.85% 40.00% 6.51% 8.38% $3,757
70% 1.86 13.52% CCC 12.35% 40.00% 7.41% 9.24% $3,398
80% 2.70 18.53% CcC 14.35% 38.07% 8.89% 10.81% $2,892
90% 5.39 34.70% CcC 14.35% 33.84% 9.49% 12.01% $2,597

Aswath Damodaran

As debt increases, your cost of equity should go up.
Levered Beta = Unlevered beta (1+(1-t) (D/E))

As debt increases, interest expenses will
go up more than proportionately. Holding
operating income constant, coverage

ratios decrease and ratings fall.
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[llustration 7: The Terminal Value

The best way to compute terminal value is to
Use a stable growth model and assume cash flows grow at a fixed rate forever

Use a multiple of EBITDA or revenues in the terminal year

M W MR

Use the estimated liquidation value of the assets

You have been asked to value a business. The business expects to earn $ 120
million in after-tax earnings (and cash flow) next year and to continue
generating these earnings in perpetuity. The firm is all equity funded and the
cost of equity is 10%; the riskfree rate is 3% and the ERP is 7%. What is the
value of the business?

Aswath Damodaran
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7.1: Limits to stable growth...

B Assume now that you were told that the firm can grow earnings at 2% a year
forever. Estimate the value of the business.

B Now what if you were told that the firm can grow its earnings at 4% a year
forever?

B What if the growth rate were 6% a year forever?

Aswath Damodaran
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7.2: And reinvestment to go with growth...

B To grow, a company has to reinvest. How much it will have to reinvest
depends in large part on how fast it wants to grow and what type of return it
expects to earn on the reinvestment.

* Reinvestment rate = Growth Rate/ Return on Capital

B Assume in the previous example that you were told that the return on capital
was 10%. Estimate the reinvestment rate and the value of the business (with a
2% growth rate).

B What about with a 3% growth rate?
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7.3: And you may not make it to Nirvana...

B Traditional valuation techniques are built on the assumption of a going
concern, i.e., a firm that has continuing operations and there is no significant
threat to these operations.

e In discounted cashflow valuation, this going concern assumption finds its place
most prominently in the terminal value calculation, which usually is based upon an
infinite life and ever-growing cashflows.

e In relative valuation, this going concern assumption often shows up implicitly
because a firm is valued based upon how other firms - most of which are healthy -
are priced by the market today.

B When there is a significant likelihood that a firm will not survive the
immediate future (next few years), traditional valuation models may yield an
over-optimistic estimate of value.
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einvestment:

Curent Curent Capital expenditures include cost of 'Stat?Ie Growth ‘
Revenue Margin: hew casinos and working capital Stable fable
o ' table Operating] ROC=10%
$ 4,390 4.76% | | . )
Xtended ndustry Revenue Marg|n: RelnveSt 300/0
: Growth: 3% ° -
| | reinvestment average 17% of EBIT(1-)
BIT break, due ot [
5 209m nvestment in Expected
past Margin: erminal Value= 758(.0743-03)
> 17% =5 17,129
Y ¢ Y Term&ar
Revenues $4434 $4523 $5427 $6,513 $7815 $8206 $8,616 $9.047 $9.499 $9.974 $10,273
Oper margin ~ 581% 6.86% 7.90% 895% 10%  11.40% 12.80% 14.20% 15.60% 17% 17%
EBIT $258  $310  $429  $583  $782  $935  $1,103 $1.285 $1482 $1,696 $ 1,746
Tax rate 260% 260% 260% 260% 260% 284% 308% 332% 35.6% 38.00% 38%
EBIT *(1-t)  $191  $229  $317 $431 $578 $670 $763  $858  $954  $1,051 $1,083
- Reinvestment -$19  -$11  $0 $22  $58  $67  $153  $215  $286  $350 $ 325
Value of Op Assets  $ 9,793 FCFF $210  $241  $317  $410  $520 $603  $611  $644  $668  $701 $758
= Value of Firm $12,833 | | | | | | | | | > Forever
- Value of Debt $ 7,565 Beta 314 314 314 314 314 275 236 197 159 120
= Value of Equity $ 5,268 Costof equity ~ 21.82% 21.82% 21.82% 21.82% 21.82% 19.50% 17.17% 14.85% 12.52% 10.20%
Costof debt 9% 9% 9% 9% 9% 8.70% 840% 8.10% 7.80% 7.50%
Value per share $8.12 Debtl ratio 73.50% 73.50% 73.50% 73.50% 73.50% 68.80% 64.10% 59.40% 54.70% 50.00%
Cost of capital  9.88% 9.88% 9.88% 9?8% 988% 9.79% 9.50% 901% 832% 7.43%
| |
Cost of Equity Cost of Debt Weights
21.82% 3%+6%= 9% Debt= 73.5% ->50%
9% (1-.38)=5.58%
Riskiree Rate: Las V Sand
T. Bond rate = 3% as vegas cands
Beta 6Ro'/fk Fremium Feburary 2009
+ | 3.14-> 1.20 X Trading @ $4.25
| * | | I |
Casino Current Base Equity Country Risk
1.15 D/E: 277% Premium Premium




The Distress Factor

B In February 2009, LVS was rated B+ by S&P. Historically, 28.25% of B+
rated bonds default within 10 years. LVS has a 6.375% bond, maturing in
February 2015 (7 years), trading at $529. If we discount the expected cash
flows on the bond at the riskfree rate, we can back out the probability of
distress from thgbond price: | :

529 _ z 63 75(1 - p]?istress) . 1000(1 - pD715tress)
(1.03) (1.03)

B Solving for the probability of bankruptcy, we get:

Topisress = Annual probability of default = 13.54%
e Cumulative probability of surviving 10 years = (1 - .1354)10 =23.34%
e Cumulative probability of distress over 10 years =1 - .2334 = 7666 or 76.66%
m If LVS is becomes distressed:
* Expected distress sale proceeds = $2,769 million < Face value of debt
» Expected equity value/share = $0.00

m Expected value per share = $8.12 (1 - .7666) + $0.00 (.2334) = $1.92

t=l

Aswath Damodaran
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8. From firm value to equity value: Loose Ends...

B For a firm with consolidated financial statements, you have discounted free
cashflows to the firm at the cost of capital to arrive at a firm value of $ 100
million. The firm has

e A cash balance of $ 15 million
* Debt outstanding of $ 20 million

e A 5% holding in another company: the book value of this holding is $ 5 million.
(Market value of equity in this company is $ 200 million)

e Minority interests of $ 10 million on the balance sheet

a. What is the value of equity in this firm?

b. How would your answer change if you knew that the firm was the target of a
lawsuit it is likely to win but where the potential payout could be $ 100 million
if 1t loses?

c. Now assume that you are considering acquiring the firm and are told that it is

“normal” to pay a 20% control premium. Would you go along? Why or why
not?
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8.1: Is a dollar in cash always worth a dollar?

Market Value of $ 1 in cash:
Estimates obtained by regressing Enterprise Value against Cash Balances

Mature firms, Negative excess returns All firms High Growth firms, High Excess Returns

ath Damodaran
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8.2: Cross holdings: The “Black Hole” of Valuation...
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Tata Chemicals [Tata Steel Tata Motors |[TCS
Value of Operating Assets INR 57,129 INR 501,661] INR 231,914] INR 1,355,361
+ Cash INR 6,388 INR 15,906 INR 11,418 INR 3,188
+ Value of Holdings INR 56,454| INR 467,315 INR 140,576 INR 66,141
Value of Firm INR 119,971] INR 984,882 INR 383,908 INR 1,424,690
- Debt INR 32,374| INR 235,697 INR 109,198 INR 505
- Options INRO INRO INRO INR O
Value of Equity INR 87,597| INR 749,185 INR 274,710 INR 1,424,184
Value per share INR 372.34] INR 844.43 INR 665.07 INR 727.66
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Tata Motors TCcs

% of value from cash
%9 of value from holdings

® % of value from operating assets
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8.3: No garnishing please... Control may have value... but is

not always 20%

Aswath Damodaran

Exhibit 7.2: The value of control at Hormel Foods
Hormel Foods sells packaged meat and other food products and has been in existence as a publicly traded company for almost 80 years.
In 2008, the firm reported after-tax operating income of $315 million, reflecting a compounded growth of 5% over the previous 5 years.
The Status Quo
Run by existing management, with conservative reinvestment policies (reinvestment rate = 14.34% and debt ratio = 10.4%.

( Anemic growth rate and short growth period, due o reinvestment policy ) (Low debt ratio affects cost of capltaD

Year Operating income after taxes | Expected growth rate| ROC | Reinvestment Rate | Reinvestment | FCFF | Cost of capital | Present Value
Trailing 12 months 5315
1 5324 2.75% 14.34% 19.14% 62 5262 6.79% 5245
2 $333 2.75% 14.34% 19.14% $64 $269 B.79% 3236
3 $342 2.75% 14.34% 19.14% 365 5276 6. 79% $227
Beyond $350 2.35% 7.23% 32.52% 3114 $4,840 7.23% $3,974
Value of operating assets 54,682
(Add) Cash $155
(Subtract) Debt £491
(Subtract) Management Options $53
Value of equity in common stock 54,293
Value per share $31.91

New and better management

More aggressive reinvestment which increases the reinvestment rate (to 40%) and length of growth (to 5 years), and higher debt ratio (20%).

perating Restructuring (1
Expected growth rate = ROC ™ Reinvestment Rate
Expected growth rate (status quo) = 14.34% * 19.14% = 2.75%
Expected growth rate (optimal) = 14.00% * 40% = 5.60%
ROC drops, reinvestment rises and growth goes up.

Financial restructuring

Cost of capital = Cost of equity (1-Debt ratio) + Cost of debt (Debt ratio)
Status quo = 7.33% (1-.104) + 3.60% (1-.40) (.104) = 6.79%

Optimal = 7.75% (1-.20) + 3.60% (1-.40) (.20) = 6.63%

Cost of equity rises but cost of capital drops.

Year Operating income after taxes | Expected growth rate | ROC | Reimvestment Rate |Reinvestment | FCFF | Cost of capital | Present Value
Trailing 12 months 5315
1 $333 5.60% 14.00% 40.00% 133 §$200 6.63% $187
2 $351 5.60% 14.00% 40.00% 141 $211 b.63% $185
3 3371 5.60% 14.00% 40.00% 148 §223 6.63% 5184
4 $392 5.60% 14.00% 40.00% 260 $235 6.63% $182
5 5414 5.60% 14.00% 40.00% $223 $248 6.63% $180
Beyond $423 2.35% 6.7 4% 34.87% $148 $6,282 6.74% $4,557
Walue of operating assets $5,475
(Add) Cash $155
{Subtract) Debt £491
(Subtract) Management Options $53
Walue of equity in common stock $5,085
Value per share $37.80

= an|jeA pajoadxy

(0+) 08'2€$ + (06) 16'LES
@ %01 = 8bueyo juswabeuew jo Ajjiqeqold

¢ =

@ 05°2¢

32



9. From equity value to equity value per share

B You have valued the equity in a firm at $ 200 million. Estimate the value of
equity per share if there are 10 million shares outstanding.

B How would your answer change if you were told that there are 2 million
employee options outstanding, with a strike price of $ 20 a share and 5 years
left to expiration?

Aswath Damodaran 33



10. The final circle of hell...

L3 TTWIUCES EALEPL IUI PRI SIS @il Taun uaiay

1977 1977
INCOME STATEMENT: (unadj.)  adjustmts (adj.) 1978 1979 1980 1981 1982 1983 1984 1985 1986 1987
Sales 717.6 7901 885.9 1005.2 1129.9 1265.5 13921 1531.3 1684.4 1852.8 20384
Net Income (bef. adj.) 38.4 431 50.7 60.1 70.6 84.7 93.2 102.5 127 124.0 136.4
Interest adjustment 0.0 6.5 7.8 8.5 9.2 9.8 10.7 1.7 12.8 14.0 15.4
Goodwill adjustment 0.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0
Plant write-up adj. 0.0 2.8 2.8 2.8 2.8 2.8 2.8 2.8 2.8 2.8 2.8
Net Income (aft. adj) 38.4 38 381 468 66 701 777 86 951 1052 1162
BALANCE SHEET
A — 4 +37
Working capital 198.8 : +100 195.8 202.9 223 248.1 274.2 302.8 329.3 358.6 390.7 426.1 465
-140
Prop, plant & equip 181.87 +124 305.8 334.2 367.4 384.6 400.1 411.6 437.5 466.6 499.1 535.6 576.1
Goodwill or +80 80 78 76 74 72 70 68 66 64 62 60
Total assets 58437 +201 785.3 824 889.9 948.4 1007 1065.8 11355 12131 1299 1394.6 1500.3
Long-term debt 8627 +100 186.2 2209 238.8 2529 266.8 280.1 297.7 317.5 3394 363.9 3N
Shhidrs. equity 309”7 +101 410 4101 443.5 469.7 495.4 520.2 553 589.6 630.3 675.7 726
Total capital 395.27 +201 596.2 631 682.3 722.6 762.2 800.3 850.7 907.1 969.7 1039.6 117
CAFITAL S50URCES
Profit Retentions 0.1 33.4 26.2 25.7 24.8 32.8 36.6 40.7 45.4 50.3
Captital from Kennecott - - - - - - - - - -
Debt financing (net) 347 17.9 14 139 13.3 17.6 19.8 21.9 24.5 271
Total capital added 348 51.3 40.3 39.6 381 50.4 56.4 62.6 69.9 77.4
KEY FINANCIAL RATIOS
Growth rate in sales(%6) 16.90 100 121 13.5 124 12 10 10 10 10 10
Sales/assets 1.23 0.96 1.00 1.06 1.12 1.19 1.23 1.26 1.30 1.33 1.36
Profit/sales 0.054 0.04 0.043 0.047 0.05 0.055 0.056 0.056 0.056 0.057 0.057
Assets/net worth 1.89 2.0 2.01 2.02 2.03 2.05 2.05 2.06 2.06 2.06 2.07
Profit/net worth 0.124 0078 0086 000 0114 0135 0141 0046 051 0156  0.160
CASH FLOW TO KENNECOTT
Acquisition of Carborund -550
Dividends to Kennecott 140 3.7 4.7 206 309 45.3 449 49.4 54.4 59.8 65.9
Utilization of Kennecott
Cost of Equity Cost of Capital
Kennecott Corp (Acquirer) | 13.0% 10.5%
Carborandum (Target) 16.5% 12.5%
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Some closing thoughts on valuation...

View “paradigm shifts” with skepticism.

Keep your perspective; it is only a valuation.

Aswath Damodaran

Focus on the big picture; don’ t let the details trip you up.

If you have to choose between valuation skills and luck....
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